
Falcon DD2

Kartonderdeel
Photo code description

0
100.560 Falcon kart complete DD2 Black

Achteras, spie en 
naaf 40mm

147.830 Rear axle 40x3x1040 >- DD2<

Achteras, spie en 
naaf 40mm

148.003 Key 8x6x60 with 3 pins 7,3mm

Achteras, spie en 
naaf 40mm

153.210 Wheel hub rear/front 40X70

Bodywork
108.233 Upper front panel brakcet >Dynamica<

Bodywork
108.236 Lower bracket for front panel >Dynamica

Bodywork
108.237 Lower cross bracket front panel >Dynamica<

Bodywork
108.536 Front spoiler black >- Dynamica<

Bodywork
108.544

CIK SUPPORTS AND BRACKETS KIT FOR FRONT 
SPOILER AGILE

Bodywork
108.549 Front spoiler mounting set >DROP-OFF<

Bodywork
108.581 Front spoiler mounting kit >RR<

Bodywork
108.584 Plastic bracket for front bumper

Bodywork
108.672 Side pod >Dynamica 2022<

Bodywork
108.806 Front panel >Dynamica<

Bodywork
108.848 Rear spoiler -middle- >2022<

Bodywork
108.850 Rear spoiler -side cap- >2022<

Bodywork
108.889 Rear bumper mounting kit 30mm

Bodywork
108.894 Rear bumper mounting kit 2-pc. >-2022<

Bodywork
108.896 Rear bumper bracket vertical >2022<

Bodywork
108.897 Bracket support  back wing flat laser >2022<

Bodywork
108.955 Side bar left >- Dynamica<

Bodywork
108.956 Side bar right  >- Dynamica<

Bodywork
111.030 Upper front bumper >OK/KZ<

Bodywork
111.040 Front bumper lower

Pagina 1



Falcon DD2

Bodywork
142.102 Rear bumper sleeve inside 30mm

Bodywork
142.240 Rear bumper sleeve outside

Bodywork
142.245 Nut M10 rear bumper

Bodywork
142.246 High self locking nut M10

Bodywork
142.250 Rear bumper bolt M10x140

Bodywork
142.402 Rear bumper rubber 30mm

Bolts, Nuts & 
Washers

150.125 BOLT TBEI M6X20 >FALCON<

Bolts, Nuts & 
Washers

900.004 Washer 6-12x1,5mm

Bolts, Nuts & 
Washers

900.008 Washer  8x16mm

Bolts, Nuts & 
Washers

900.008 Washer  8x16mm

Bolts, Nuts & 
Washers

900.008 Washer  8x16mm

Bolts, Nuts & 
Washers

900.010 WASHER M10 - WHITE GALVANIZED

Bolts, Nuts & 
Washers

900.015 Schnorr washer 6mm

Bolts, Nuts & 
Washers

900.015 Schnorr washer 6mm

Bolts, Nuts & 
Washers

900.015 Schnorr washer 6mm

Bolts, Nuts & 
Washers

900.099 Washer 6x18

Bolts, Nuts & 
Washers

900.099 Washer 6x18

Bolts, Nuts & 
Washers

900.099 Washer 6x18

Bolts, Nuts & 
Washers

900.105 WASHER M8X24 - WHITE GALVANIZED

Bolts, Nuts & 
Washers

900.105 WASHER M8X24 - WHITE GALVANIZED

Bolts, Nuts & 
Washers

900.113 Kits bolts+nuts for rear spoiler Dynamica

Bolts, Nuts & 
Washers

900.118
Bouten en moeren voor minikart voor assemblage 
chassis

Bolts, Nuts & 
Washers

900.130 Allen screw 4x8mm white galvanized

Bolts, Nuts & 
Washers

900.131 Hexagon socket bolt 8x65

Bolts, Nuts & 
Washers

900.132 ALLEN SCREW 4X10

Pagina 2



Falcon DD2

Bolts, Nuts & 
Washers

900.233 Allen screw  6x20

Bolts, Nuts & 
Washers

900.233 Allen screw  6x20

Bolts, Nuts & 
Washers

900.233 Allen screw  6x20

Bolts, Nuts & 
Washers

900.233 Allen screw  6x20

Bolts, Nuts & 
Washers

900.233 Allen screw  6x20

Bolts, Nuts & 
Washers

900.244 Binnenzeskantbout   8.8   6x 80

Bolts, Nuts & 
Washers

900.246 NUT RH M8 - LOW, H=6MM - WHITE GALVANIZED

Bolts, Nuts & 
Washers

900.247
NUT LH M8 - LOW LEFT, H=6MM - WHITE 
GALVANIZED

Bolts, Nuts & 
Washers

900.249 BOLT TSEI M6X20 - WHITE GALVANIZED

Bolts, Nuts & 
Washers

900.253 ALLEN SCREW  8.8  8X30

Bolts, Nuts & 
Washers

900.256 ALLEN SCREW  8.8  8X45  (VZ)

Bolts, Nuts & 
Washers

900.256 ALLEN SCREW  8.8  8X45  (VZ)

Bolts, Nuts & 
Washers

900.258 Binnenzeskantbout 8.8  8x20

Bolts, Nuts & 
Washers

900.268 Hexagon socket bolt 8.8 M8x25

Bolts, Nuts & 
Washers

900.268 Hexagon socket bolt 8.8 M8x25

Bolts, Nuts & 
Washers

900.333 Allen screw 6x25 8.8 white galvanized

Bolts, Nuts & 
Washers

900.333 Allen screw 6x25 8.8 white galvanized

Bolts, Nuts & 
Washers

900.334 Allen screw 6x30 8.8 white galvanized

Bolts, Nuts & 
Washers

900.335 Allen screw 6x35 8.8 white galvanized

Bolts, Nuts & 
Washers

900.335 Allen screw 6x35 8.8 white galvanized

Bolts, Nuts & 
Washers

900.335 Allen screw 6x35 8.8 white galvanized

Bolts, Nuts & 
Washers

900.337 Allen screw 6x45 8.8 white galvanized

Bolts, Nuts & 
Washers

900.419 Conical head screw 4x8 galvanized

Bolts, Nuts & 
Washers

900.431 Binnenzeskantbout verzonken 8x16

Bolts, Nuts & 
Washers

900.440 Countersunk screw 6x25

Pagina 3



Falcon DD2

Bolts, Nuts & 
Washers

900.440 Countersunk screw 6x25

Bolts, Nuts & 
Washers

900.462 BOLT TSEI M8X30 - WHITE GALVANIZED

Bolts, Nuts & 
Washers

900.462 BOLT TSEI M8X30 - WHITE GALVANIZED

Bolts, Nuts & 
Washers

900.462 BOLT TSEI M8X30 - WHITE GALVANIZED

Bolts, Nuts & 
Washers

900.466 ALLEN SCREW  TAPED  8X35

Bolts, Nuts & 
Washers

900.466 ALLEN SCREW  TAPED  8X35

Bolts, Nuts & 
Washers

900.466 ALLEN SCREW  TAPED  8X35

Bolts, Nuts & 
Washers

900.467 Allen screw taped 8X40 VZ

Bolts, Nuts & 
Washers

900.468 ALLEN SCREW TAPED  10.9  8X45

Bolts, Nuts & 
Washers

900.470 Allen screw taped 10.0 8x55 white galvanized

Bolts, Nuts & 
Washers

900.475 ALLEN SCREW TAPED  10.9  8X80

Bolts, Nuts & 
Washers

900.690 Bolt TE M8x25 with flange >FALCON<

Bolts, Nuts & 
Washers

900.690 Bolt TE M8x25 with flange >FALCON<

Bolts, Nuts & 
Washers

900.691 Bolt te M8x20 with flange

Bolts, Nuts & 
Washers

900.900 CONVEX HEAD BOLT  6X16

Bolts, Nuts & 
Washers

900.904 Convex head bolt 6x30

Bolts, Nuts & 
Washers

900.906 Bolkop inbusbout M6x22

Bolts, Nuts & 
Washers

900.906 Bolkop inbusbout M6x22

Bolts, Nuts & 
Washers

900.907 Convex head bolt 6x45

Bolts, Nuts & 
Washers

900.913 Bolt TBEI 8x25 galvanized

Bolts, Nuts & 
Washers

900.914 Convex head bolt 8x20

Bolts, Nuts & 
Washers

900.914 Convex head bolt 8x20

Bolts, Nuts & 
Washers

900.917 Bolkop inbusbout M8X50

Bolts, Nuts & 
Washers

900.932 convex head screw with flange 6x20

Bolts, Nuts & 
Washers

900.933 Bolt with collar 6x25

Pagina 4



Falcon DD2

Bolts, Nuts & 
Washers

900.934 Binnenzeskantbout 8.8   6x35 verzinkt

Bolts, Nuts & 
Washers

900.950 Convex head bolt with flange 8x16

Bolts, Nuts & 
Washers

901.102 NUT NYLOC M4

Bolts, Nuts & 
Washers

901.104 Nut M6 with metal block

Bolts, Nuts & 
Washers

901.104 Nut M6 with metal block

Bolts, Nuts & 
Washers

901.104 Nut M6 with metal block

Bolts, Nuts & 
Washers

901.105 Nut nyloc M6

Bolts, Nuts & 
Washers

901.105 Nut nyloc M6

Bolts, Nuts & 
Washers

901.105 Nut nyloc M6

Bolts, Nuts & 
Washers

901.105 Nut nyloc M6

Bolts, Nuts & 
Washers

901.105 Nut nyloc M6

Bolts, Nuts & 
Washers

901.107 Nut nyloc M8

Bolts, Nuts & 
Washers

901.107 Nut nyloc M8

Bolts, Nuts & 
Washers

901.108 Nut nyloc M8 HIGH

Bolts, Nuts & 
Washers

901.112 Nut ATB M6 with flange

Bolts, Nuts & 
Washers

901.112 Nut ATB M6 with flange

Bolts, Nuts & 
Washers

901.112 Nut ATB M6 with flange

Bolts, Nuts & 
Washers

901.115 Nut ATB M8 with flange

Bolts, Nuts & 
Washers

901.115 Nut ATB M8 with flange

Bolts, Nuts & 
Washers

901.115 Nut ATB M8 with flange

Bolts, Nuts & 
Washers

901.115 Nut ATB M8 with flange

Bolts, Nuts & 
Washers

901.118 nut M10 white galvanized H=8

Bolts, Nuts & 
Washers

901.200 Nut M6

Bolts, Nuts & 
Washers

901.200 Nut M6

Bolts, Nuts & 
Washers

901.200 Nut M6

Pagina 5



Falcon DD2

Braking Systems
10CFB2
52540/B

FRONT BELL 40MM STEEL STUB AXLE 25/25 AP-
06 BURNISHED

Braking Systems
10GUFR
/Z

FORK (HOLE M6) GUIDE FOR BRAKE 
DISTRIBUTOR KZ Z.B.

Braking Systems
10PMBB
/B

KNOB FOR BRAKE DISTRIBUTOR KZ BLACK 
ANODIZED

Braking Systems
10PRRP
Z/Z

SAFETY PIN FOR KZ BRAKE DISTRIBUTOR Z.G.

Braking Systems
136.010 Cable adjust screw M6

Braking Systems
141.000 Front/rear brake pad >mini - KZ front medium<

Braking Systems
141.020 Rear brake pad set 2-pcs.  >hard<

Braking Systems
150.100 Brake pump complete X30 / KZ / Mini

Braking Systems
150.104 Master cylinder fork with pin >OK - MINI<

Braking Systems
150.108 Master cylinder spring 22mm >OK / MINI<

Braking Systems
150.109 Master cylinder safety pin clip >OK - Mini<

Braking Systems
150.109 Master cylinder safety pin clip >OK - Mini<

Braking Systems
150.110 Master cylinder safety pin >OK - MINI<

Braking Systems
150.111 Master cylinder rubber seal 22mm

Braking Systems
150.117 Master cylinder coned screw M4x12

Braking Systems
150.119 Conical head screw 4x8

Braking Systems
150.121 Brake rod safety cable

Braking Systems
150.126 Cable clamb with 2 screws

Braking Systems
150.131 Master caliper piston 27mm Mini / KZ

Braking Systems
150.131 Master caliper piston 27mm Mini / KZ

Braking Systems
150.134 Caliper O-R 27mm for piston >Mini - KZ front<

Braking Systems
150.134 Caliper O-R 27mm for piston >Mini - KZ front<

Braking Systems
150.137 Remklauw O-R D=26,64 voor moer >- mini - KZ voor<

Braking Systems
150.137 Remklauw O-R D=26,64 voor moer >- mini - KZ voor<

Braking Systems
150.138 Banjo bolt for brake caliper

Pagina 6



Falcon DD2

Braking Systems
150.138 Banjo bolt for brake caliper

Braking Systems
150.139 Aluminium washer 10x15 for banjo bolt

Braking Systems
150.139 Aluminium washer 10x15 for banjo bolt

Braking Systems
150.139 Aluminium washer 10x15 for banjo bolt

Braking Systems
150.139 Aluminium washer 10x15 for banjo bolt

Braking Systems
150.139 Aluminium washer 10x15 for banjo bolt

Braking Systems
150.139 Aluminium washer 10x15 for banjo bolt

Braking Systems
150.140 Safety pin 6x51 for front brake pad >- KZ - Mini<

Braking Systems
150.140 Safety pin 6x51 for front brake pad >- KZ - Mini<

Braking Systems
150.141 Grain for bleeder screw

Braking Systems
150.141 Grain for bleeder screw

Braking Systems
150.141 Grain for bleeder screw

Braking Systems
150.143 Bleeder screw M10 for AP-RACE 01

Braking Systems
150.143 Bleeder screw M10 for AP-RACE 01

Braking Systems
150.143 Bleeder screw M10 for AP-RACE 01

Braking Systems
150.144

COMPLETE BRAKE ROD 355MM KZ ALLOY 
PEDALS

Braking Systems
150.145 BRAKE ROD M6 355MM - WHITE GALVANIZED

Braking Systems
150.147 Rear brake caliper mounting block >'22<

Braking Systems
150.148 Rear brake caliper w/o brake pads AP-RACE 06

Braking Systems
150.149 Short fork for brake rod

Braking Systems
150.151 Security brake cable complete w/out clips

Braking Systems
150.152 rear brake caliper spacer 17x19.5x8mm

Braking Systems
150.153 Oil seal 32mm for rear brake caliper >AP-RACE 01<

Braking Systems
150.154 Rear caliper piston  32mm

Braking Systems
150.155 Piston magnet AP6 rear caliper

Pagina 7



Falcon DD2

Braking Systems
150.156 Seeger ring 32mm for magnet <<

Braking Systems
150.158 Rear brake caliper dust cover 32mm

Braking Systems
150.159 Rear brake caliper O-R 1.78x34.65 mm

Braking Systems
150.161 Safety pin rear brake pad 6x75

Braking Systems
150.162 Rear brake caliper O-R 1.78x37.82 mm

Braking Systems
150.166

Brake pipe + kit bolts >Falcon Charlotte / Indy / Mini 
2020/22<

Braking Systems
150.183 Spacer for rear brake caliper >DD2<

Braking Systems
150.202 Master cylinder piston 22mm AP RACE 01

Braking Systems
150.203 Master cylinder pin 8x36mm >OK<

Braking Systems
150.204 Master cylinder seeger ring 12x0.70 >OK<

Braking Systems
150.205 Master cylinderX30 / KZ / Mini  lever

Braking Systems
150.206 Screw TBEI M4x6 black

Braking Systems
150.207 Master cylinder diaphragm >-X30 - KZ - mini 2020<

Braking Systems
150.208

HYDRAULIC AP-RACE BRAKE PUMP - ONLY BODY 
-BLACK ANODIZED

Braking Systems
150.209 Master cylinder gasket >X30 - KZ - mini 2020<

Braking Systems
150.211 Master cylinder cover >- X30 - KZ - mini 2020<

Braking Systems
150.214 Screw M10x1

Braking Systems
150.217 Master cylinder dust cover

Braking Systems
150.220 Brake distributor >KZ - <

Braking Systems
150.221 Double fork for brake distributor

Braking Systems
150.224

SCREW WITH TURNED HEAD+ HOLE FOR 
BREAKING REPARTURE

Braking Systems
150.227 Spring for brake distributor

Braking Systems
150.229 Brake rod 6x80mm for brake distributor

Braking Systems
150.247 Rear brake disc 80X17,5 complete 40 mm

Braking Systems
150.249

Floating adaptor for front brake disc >KZ / Mini 
'20/22<

Pagina 8



Falcon DD2

Braking Systems
150.249

Floating adaptor for front brake disc >KZ / Mini 
'20/22<

Braking Systems
150.251 Front brake disc >KZ / Mini '20/22<

Braking Systems
150.251 Front brake disc >KZ / Mini '20/22<

Braking Systems
150.253 Rear brake disc 180mm

Braking Systems
150.256 Floating adaptor for 3-pegs brake disc 180-13

Braking Systems
150.262 Brake disc carrier 40mm 3-P

Braking Systems
150.267

Bush 14mm for floating disc carrier >AP-RACE 06 / 
MINI 2020<

Braking Systems
150.267

Bush 14mm for floating disc carrier >AP-RACE 06 / 
MINI 2020<

Braking Systems
150.270 Bush 18mm for floating disc 180mm

Braking Systems
150.298 Still brake tube 8mm

Braking Systems
150.300 Front brake pipe with bolts

Braking Systems
150.310 Front RH brake caliper w/out brake pads

Braking Systems
150.311 Front LH brake caliper w/out brake pads

Braking Systems
150.315 Front brake caliper support right >- KZ<

Braking Systems
150.319 Front brake caliper support left  >- KZ<

Braking Systems
150.335 Master cylinder spacer M6 >- KZ<

Braking Systems
176.110 Brake pedal spring >X30 / OK / KZ <

Braking Systems
20PSRF
Z/Z

PLATE FOR KZ BRAKE DISTRIBUTOR Z.B.

Braking Systems
20TFSF
A

AP-RACE 06 REAR BRAKE PIPE - NAKED

Chassis
102.002 Frame Falcon DD2 Black

Exhaust: Supports
131.314 Pin for pedal support exhuast bracket 20x92mm

Exhaust: Supports
131.314 Pin for pedal support exhuast bracket 20x92mm

Floor Trays
115.010 Floor tray black >'20/22<

Floor Trays
115.280 Floor tray rubber black

Floor Trays
115.280 Floor tray rubber black

Pagina 9



Falcon DD2

Floor Trays
115.800 Countersunk washer 6x20 >Black<

Floor Trays
115.800 Countersunk washer 6x20 >Black<

Fuel Tanks & 
Accessories

116.311 Eurostar removable tank 9.0L OK OKJ

Fuel Tanks & 
Accessories

116.320 Tank 9 L  fast mounting >- KZ<

Fuel Tanks & 
Accessories

116.335 Fuel tank spacer O-R

Fuel Tanks & 
Accessories

116.855 Recovery tank with mounting

Fuel Tanks & 
Accessories

117.130 M8 aluminium fitting for fuel tank

Gear Levers & 
Accessories

140.851 Uniball 10/8mm special

General
136.015 Support for cable adjuster

General
157.854 M5X5 DIN 914 GRAIN WITH POINT

General
900.254 ALLEN SCREW  8.8  8X35  (VZ)

General
900.254 ALLEN SCREW  8.8  8X35  (VZ)

General
910.010 PLASTIC CLAMP 3,6X205 - BLACK

General
910.010 PLASTIC CLAMP 3,6X205 - BLACK

Pedals & 
Accessories

113.010 Accelerator pedal complete>- OK / KZ<

Pedals & 
Accessories

113.054 Needle bearing M8 for pedal

Pedals & 
Accessories

113.054 Needle bearing M8 for pedal

Pedals & 
Accessories

113.074 Axial cage with rollers for pedal

Pedals & 
Accessories

113.074 Axial cage with rollers for pedal

Pedals & 
Accessories

113.076 Washer 1mm for pedal

Pedals & 
Accessories

113.076 Washer 1mm for pedal

Pedals & 
Accessories

113.078 Washer 2.5mm for pedal

Pedals & 
Accessories

113.078 Washer 2.5mm for pedal

Pedals & 
Accessories

113.080 Pedal stop

Pedals & 
Accessories

113.090 Uniball 6mm for brake pedal

Pagina 10



Falcon DD2

Pedals & 
Accessories

114.010 Brake pedal complete >OK / KZ<

Pedals & 
Accessories

114.011 BILLET PEDAL BODY - BLACK ANODIZED

Pedals & 
Accessories

114.011 BILLET PEDAL BODY - BLACK ANODIZED

Pedals & 
Accessories

176.100 Accelerator spring >X30 / OK / KZ <

Rear axle, key and 
hub 50mm

148.001 Key 8x6x60 with 2 pins 7,3mm

Rear axle, key and 
hub 50mm

153.710 Stdbolt M8x37mm for wheel hub

Rear axle, key and 
hub 50mm

153.710 Stdbolt M8x37mm for wheel hub

Seats & 
Accessories

10SPSP
01

SEAT AND FUEL TANK SPACER PLASTIC 10MM

Seats & 
Accessories

10SPSP
01

SEAT AND FUEL TANK SPACER PLASTIC 10MM

Seats & 
Accessories

121.000 Seat washer aluminum 8x45mm

Seats & 
Accessories

121.005 Seat washer aluminum 8x60mm

Seats & 
Accessories

121.030 Countersunk washer M8 for seat

Seats & 
Accessories

121.031 Countersunk alum. seat washer

Seats & 
Accessories

123.012 Seat stay straight >- 280<

Seats & 
Accessories

123.014 Seat stay straight >- 320<

Steering System
115.802 Countersunk washer M8 >black<

Steering System
115.802 Countersunk washer M8 >black<

Steering System
115.802 Countersunk washer M8 >black<

Steering System
150.124 Long fork for brake rod

Steering System
150.132 Magnet for piston18x5mm for piston >-MINI<

Steering System
150.132 Magnet for piston18x5mm for piston >-MINI<

Steering System
150.133 Seeger ring for magnet 18mm <

Steering System
150.133 Seeger ring for magnet 18mm <

Steering System
150.163 Fixing clip 1.6 for safety pin

Steering System
150.163 Fixing clip 1.6 for safety pin

Pagina 11



Falcon DD2

Steering System
150.163 Fixing clip 1.6 for safety pin

Steering System
150.276 Front small hub for stub axles 25/25 >KZ<

Steering System
156.300 Steering wheel 320mm >Falcon<

Steering System
157.001 Steeringcolumn support with 3 holes

Steering System
157.005 Support for uniball bearing

Steering System
157.850 Locking ring 20mm steering column

Steering System
158.010

STEERING COLUMN 490MM WITH 2 BRACKETS 
DOUBLE HOLE- CHROMED

Steering System
159.000 Track rod end male L

Steering System
159.010 Track rod end male R.

Steering System
160.000 Track rod end spacer washer 8x20x5  >

Steering System
164.011 Track rod 275mm

Steering System
165.010 Stub axle bolt 10x80mm

Steering System
165.021 SPACER KIT L=40MM ? 10MM FOR STUB AXLE

Steering System
165.022 Lower sphere for stub axle  10mm >'20/22<

Steering System
165.027 Curved spacer for stub axle EVO >'18/22<

Steering System
165.029 Stub axle spacer 8x2.0mm >- Mini<

Steering System
165.034 Curved spacer for 10mm stub axle EVO

Steering System
165.036 Spacer for stub axle 10x2.0mm

Steering System
165.102 ECCENTRIC FOR STUB AXLE 3°  old type

Steering System
165.125 Eccentric EVO for stub axle 3° burnished

Steering System
165.135 Eccentric easy caster camber 10mm complete

Steering System
165.137 Eccentric easy base burnished

Steering System
165.139 Eccentric easy caster-camber

Steering System
165.141 Eccentric easy camber ring

Steering System
165.145 Eccentric easy adjustable nut

Pagina 12



Falcon DD2

Steering System
165.147 Grain M5x25

Steering System
168.040

WELDED STUB AXLE CHROMED RH 25-25, 40MM 
10.2° PIN M10 COMPLETE

Steering System
169.040

WELDED CHROMED STUB AXLE LH 25-25 40MM 
10,2° PIN M10 COMPLETE

Steering System
170.020 front wheel nut 14x1,5mm

Steering System
171.039 Front wheel bearing 25X37mm >OK<

Steering System
171.045 Front wheel bearing 25x42x9mm >6905-ZZ<

Steering System
173.210 Spacer for stub axle outside 14/25mm

Steering System
191.230 Aluminium clamb 30mm

Steering System
191.240 Torsion bar cut 30x285mm

Steering System
192.068

ADJUSTABLE FORGED STEERING HUB OK WITH 
INCLINATION - BLACK A

Steering System
193.000 Stub axle bearing 10X26mm

Steering System
193.000 Stub axle bearing 10X26mm

Steering System
193.066 Bush 24mm for stub axle 10mm >OK-KZ-Mini<

Steering System
193.066 Bush 24mm for stub axle 10mm >OK-KZ-Mini<

Steering System
900.066 Washer 8x13

Steering System
900.066 Washer 8x13

Steering System
900.066 Washer 8x13

Wheels Aluminium
188.000 Tubeless valve

Wheels Aluminium
188.000 Tubeless valve

Wheels 
Magnesium

153.720 CIK wielmoer koper M8

Wheels 
Magnesium

153.720 CIK wielmoer koper M8

Wheels 
Magnesium

153.720 CIK wielmoer koper M8

Wheels 
Magnesium

154.863 Rear wheel >Eurostar< 212mm magnesium

Wheels 
Magnesium

174.880 Front wheel >Eurostar< 132mm Magnesium 1-pc.

#N/B
#N/B #N/B

Pagina 13



Falcon DD2

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

#N/B
#N/B #N/B

Pagina 14


